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Section 1 - Part A-General Intelligence  
 

1) Find the odd one out.  

A) Pear  

B) Apple  

C) Carrot  

D) Mango  
 

 

1) िवषम पद को खोजᱶ।  

A) नाशपाती  

B) सेब  

C) गाजर  

D) आम  
 

 

 
 
2) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Earth : Gravity :: Birds : __________ . 

A) Photosynthesis  

B) Terrestrial  

C) Aerial  

D) Amphibian  
 

 

 
 
2) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
पृ᭝वी: गुᱧ᭜वाकषᭅण :: पिᭃ: __________ 

A) ᮧकाश सं᳣षेण  

B) पाᳶथᭅव  

C) आकाशीय  

D) जलथलचर  
 

 

 
 
3) Among the six students M, N, O, P, Q and R in a tuition 
class, M and Q are the brothers, R is the sister of Q, O is 
the only son of M’s uncle while N and P are the daughters 
of O’s uncle, who is NOT father of M. How is P related to 
M?  

A) Sister  

B) Daughter  

C) Cousin  

D) Aunty  
 

 

 
 
3) छः छाᮢ M, N, O, P, Q और R Ჷूशन ᭍लास मᱶ ह,ᱹ M और Q 
भाई ह,ᱹ R Q कᳱ बहन ह,ै O M के चाचा का एकमाᮢ बेटा ह ैजबᳰक N 
और P दोनᲂ O के चाचा कᳱ बेᳯटयाँ ह,ᱹ जहाँ M के िपता नहᱭ ह,ᱹ P M 
कᳱ ᭍या लगती ह?ै  
 

A) बहन  

B) बेटी  

C) चचेरी बहन  

D) चाची  
 

 

 
 
4) Which of the following statements can be used to take 
a decision on this problem: What is the radius of the circle 
P?  

A) Problem cannot be solved  

B) Its area is 12 square cm less than a square with side 
length equal to its diameter  

C) Its diameter is longest chord of circle  

D) Its diameter is twice the radius  
 

 

 

 
 
4) िन᳜ मᱶ से कौन सा कथन इस सम᭭या पर िनणᭅय लेन ेके िलए उपयोग 
ᳰकया जा सकता ह:ै वृᱫ P कᳱ िᮢ᭔या ᭍या ह?ै  

A) सम᭭या हल नहᱭ कᳱ जा सकती ह ै 

B) इसका ᭃेᮢफल 12 वगᭅ cm कम ह ैउस वगᭅ से िजसके ᳰकनारे कᳱ 
ल᭥बाई उसके ᳞ास से बराबर ह ै 

C) इसका ᳞ास वृᱫ कᳱ सबसे लंबी जीवा ह ै 

D) इसका ᳞ास िᮢ᭔या का दो गनुा ह ै 
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5) A set of statements is given.  
A) P is a perfect square,  
B) P is greater than 2000.  
Which of the given set of statements should be used to 
decide the solution to problem: Is P a prime number if 
P>1? 

A) Both A and B together  

B) Not possible to decide even with both A and B  

C) Only A  

D) Only B  
 

 

5) कथनᲂ का एक समूह ᳰदया गया हIै  
A) P एक पूणᭅ वगᭅ ह,ै  
B) P 2000 से अिधक ह।ै  
अगर P>1 ह ैतो ᭍या P एक अभा᭔य सं᭎या ह:ै इस सम᭭या का समाधान 
करन े के िलए िनधाᭅᳯरत बयानᲂ मᱶ से ᳰकसका उपयोग ᳰकया जाना 
चािहए? 

A) A और B दोनᲂ एक साथ  

B) A और B दोनᲂ के साथ भी तय करना संभव नहᱭ ह ै 

C) केवल A  

D) केवल B  
 

 

 
 
6) Below four different alphabetical sequences are given. 
Three of them follow the same pattern as: CJM. Identify 
the one sequence that does NOT follow this pattern.  

A) GSX  

B) PAQ  

C) JOY  

D) RDV  
 

 

 
 
6) नीच ेचार अलग-अलग अᭃरा᭜मक ᮓम ᳰदए गए ह।ᱹ उनमᱶ से तीन 
CJM के जैसे समान पैटनᭅ का अनुसरण करत ेह।ᱹ उस अनुᮓम कᳱ पहचान 
करᱶ जो इस पैटनᭅ का पालन नहᱭ करता ह?ै  

A) GSX  

B) PAQ  

C) JOY  

D) RDV  
 

 

 
 
7) Which figure is similar to the one given in figure 5?  
Figure 5: 
 

 
 

A) b  

B) d  

C) a  

D) c  
 

 

 
 
7) िचᮢ 5 मᱶ दी गई आकृित के समᱨप कौन सा आकृित ह?ै  
िचᮢ 5: 
 

 
 

A) b  

B) d  

C) a  

D) c  
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8) Which of the images amongst 1, 2, 3 and 4 is the 
correct water image of the figure X? 

 
 

A) Image 2  

B) Image 3  

C) Image 4  

D) Image 1  
 

 

8) िन᳜ िचᮢ X के िलए ᳰदये गये 1, 2, 3 और 4 ᮧितिब᭥बᲂ मᱶ से कौन 
सा सही जल ᮧितिब᭥ब ह?ै 

 
 

A) ᮧितिब᭥ब 2  

B) ᮧितिब᭥ब 3  

C) ᮧितिब᭥ब 4  

D) ᮧितिब᭥ब 1  
 

 

 
 
9) A chart is given here. Using this chart choose the 
alternative which resembles most closely the mirror-
image of the string ZEBRA1. 
  

 
 

A) NEUSO*  

B) NFVSO*  

C) MFVSO*  

D) MFVRO*  
 

 

 
 
9) यहाँ एक चाटᭅ ᳰदया गया ह।ै इस चाटᭅ का उपयोग करते ᱟए उस 
िवक᭨प का चयन करᱶ जो दपᭅण-ᮧितिब᭥ब के ZEBRA1 ᳲ᭭ᮝंग के सबसे 
िनकट ᳰदखता ह।ै 
   

 
 

A) NEUSO*  

B) NFVSO*  

C) MFVSO*  

D) MFVRO*  
 

 

 
10) The next term in the series 17, 37, 65, 101, 145, 197, 
____ is  

A) 253  

B) 257  

C) 227  

D) 254  
 

 

 
10) ᮰ृंखला 17, 37, 65, 101, 145, 197, ____ मᱶ अगली सं᭎या ह ै
  

A) 253  

B) 257  

C) 227  

D) 254  
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11) In the game of chess, a queen has 9 points, a rook 
has 5 points, a bishop and a knight have 3 points each 
and a pawn has 1 point. Losing any of these pieces has 
proportional impact as their points. Which of these is a 
favourable exchange?  

A) Queen in place of Rook  

B) Pawn in place of Rook  

C) Bishop in place of Knight  

D) Knight in place of Bishop  
 

 

11) एक खले मᱶ, एक रानी 9 अंकᲂ कᳱ ह,ै एक हाथी 5 अंकᲂ का ह,ै एक 
ऊँट और एक घोड़ा 3 अंक ᮧ᭜येक और एक ᭡यादा 1 अंक का ह।ै इन 
टुकड़ᲂ मᱶ से ᳰकसी एक का खोना उनके अंक के ᱨप मᱶ आनुपाितक ᮧभाव 
करता ह।ै इनमᱶ से कौन सा अनकूुल िविनमय ह?ै  
 

A) हाथी कᳱ जगह पर रानी  

B) हाथी कᳱ जगह पर ᭡यादा  

C) घोड़ा कᳱ जगह पर ऊँट  

D) ऊंट कᳱ जगह पर घोड़ा  
 

 

 
 

12) Which picture is different from the other pictures in  
fig 23?  
Figure 23:  

 
A) 4  

B) 3  

C) 2  

D) 1  
 

 

 
 

12) िचᮢ 23 मᱶ कौन सी आकृित अ᭠य आकृितयᲂ से िभ᳖ ह?ै  
िचᮢ 23: 
 

  
A) 4  

B) 3  

C) 2  

D) 1  
 

 

 

13) What are the minimum number of cuts required to 
form 64 small cubes from a bigger cube?  

A) 9  

B) 5  

C) 10  

D) 7  
 

 

 
 
13) एक बड़ े घन से 64 छोटे घन बनाने के िलए ᭠यूनतम ᳰकतनी 
आकृितयᲂ कᳱ आव᭫यकता होगी?  

A) 9  

B) 5  

C) 10  

D) 7  
 

 

 
 

14) The next two consecutive terms in the series 30, 68, 
130, 222, ____, ____ are  

A) 231, 364 respectively  

B) 238, 375 respectively  

C) 350, 520 respectively  

D) 289, 440 respectively  
 

 

 
 

14) ᮰ृंखला 30, 68, 130, 222, ____, ____ मᱶ अगल ेदो ᮓमागत 
सं᭎या ह ᱹ 

A) 231, 364 ᮓमशः  

B) 238, 375 ᮓमशः  

C) 350, 520 ᮓमशः  

D) 289, 440 ᮓमशः  
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15) If SHIFT is written as RFFBO, the decoded string for 
LKUMB is  

A) MBTLA  

B) MMXQG  

C) KJTLA  

D) MJVLC  
 

 

15) यᳰद SHIFT को RFFBO के ᱨप मᱶ िलखा गया ह,ै तो LKUMB 
के िलए कूटानुवाᳰदत कᳱ गई ᮰ृंखला ᭍या होगी?  

A) MBTLA  

B) MMXQG  

C) KJTLA  

D) MJVLC  
 

 

 
 
16) If L>M, M=N and D<M, then which of the following 
relations will be false?  

A) L>N  

B) N<D  

C) L>D  

D) M<L  
 

 

 
 
16) यᳰद L>M, M=N और D<M, तो िन᳜ मᱶ से कौन सा संबंध गलत 
ह?ै  

A) L>N  

B) N<D  

C) L>D  

D) M<L  
 

 

 
17) Below four different alphanumerical sequences are 
given. Three of them follow the same pattern as: J40. 
Identify the one sequence that does NOT follow this 
pattern.  

A) M56  

B) Y100  

C) H32  

D) P64  
 

 

 
17) नीच ेचार अलग-अलग अᭃरांकᳱय ᮓम ᳰदए गए ह।ᱹ उनमᱶ से तीन 
J40 के जैसे समान पैटनᭅ का अनुसरण करत ेह।ᱹ उस अनᮓुम कᳱ पहचान 
करᱶ जो इस पैटनᭅ का पालन नहᱭ करता ह?ै  
 

A) M56  

B) Y100  

C) H32  

D) P64  
 

 

 
 
18) Which of these options can be judged from one of the 
remaining three options?  

A) Q is sister of P  

B) R and T are wife and husband  

C) R is brother of W  

D) P, Q and R are sisters  
 

 

 
 
18) इनमᱶ से कौन सा िवक᭨प शषे तीन िवक᭨पᲂ मᱶ से एक से आंका जा 
सकता ह?ै  

A) Q,  P कᳱ बहन ह ै 

B) R और T प᳀ी और पित ह ै 

C) R,  W का भाई ह ै 

D) P, Q और R बहनᱶ ह ᱹ 
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19) In each of the pair given in options, a theoretical 
concept and its real life example is paired. Identify and 
answer where this pairing is incorrect?  

A) Fiction-Novels  

B) Literature-Poems  

C) Calculation-History  

D) Science-Geography  
 

 

19) िवक᭨पᲂ मᱶ दी गई ᮧ᭜येक जोड़ी मᱶ, एक सै᳍ांितक अवधारणा और 
उसका वा᭭तिवक जीवन उदाहरण ᳰदया गया ह।ै पहचानᱶ और जवाब दᱶ 
ᳰक ये पेयᳳरंग जोिड़यᲂ मᱶ कहाँ गलत ह?ै  

A) का᭨पिनक कहानी - उप᭠यास  

B) सािह᭜य - किवता  

C) गणना - इितहास  

D) िव᭄ान - भगूोल  
 

 

 
 
20) Four pairs of related terms are given. One of them, 
does NOT have the relation between terms that others 
have. Which one is it?,,,,  

A) Rain-Cloud  

B) Light-Sun  

C) Sleep-Chair  

D) Disease-Bacteria  
 

 

 
 
20) संबंिधत पदᲂ के चार जोड़ ेᳰदए गए ह।ᱹ दसूरे पदᲂ के बीच जो स᭥ब᭠ध 
ह ैवो इनमᱶ से एक मᱶ नहᱭ ह।ै वो पद कौनसा ह?ै  
 

A) बाᳯरश-बादल  

B) ᮧकाश-धपू  

C) नᱭद-कुसᱮ  

D) बीमारी-जीवाणु  
 

 

 
21) 27 workers can finish a piece of work in 48 days. Only 
21 of them worked for 12 days. How many workers 
should work for the remaining days so as to finish the 
work on time?  

A) 33  

B) 25  

C) 29  

D) 31  
 

 

21) 27 ᮰िमक 48 ᳰदनᲂ मᱶ एक काम को ख᭜म कर सकते ह।ᱹ उनमᱶ से 
केवल 21 ᮰िमक 12 ᳰदनᲂ के िलए काम ᳰकये ह।ᱹ समय पर काम ख᭜म 
करन ेके िलए ᳰकतन े᮰िमकᲂ को शषे ᳰदनᲂ के िलए काम करना चािहए? 
 

A) 33  

B) 25  

C) 29  

D) 31  
 

 

 
 
22) If 35796 is decoded as 44887, then decoded number 
for 46823 is  

A) 55934  

B) 55914  

C) 55714  

D) 57914  
 

 

 
 
22) यᳰद 35796 को 44887 के ᱨप मᱶ कूटानुवाᳰदत ᳰकया गया ह,ै तो 
46823 के िलए कूटानवुाᳰदत सं᭎या ᭍या होगी?  

A) 55934  

B) 55914  

C) 55714  

D) 57914  
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23) The missing term in the series 3, ____, 12, 24, 48, 96, 
192 is  

A) 8  

B) 6  

C) 9  

D) 11  
 

 

23) ᮰ृंखला 3, ____, 12, 24, 48, 96, 192 मᱶ अनुपि᭭थत सं᭎या ह ै 
 

A) 8  

B) 6  

C) 9  

D) 11  
 

 

 
 
24) A lady Reema, was shopping with Surya, they met 
Seema. Reema introduced Surya as, “My maternal uncle 
and the maternal uncle of his maternal uncle are the two 
brothers.” How is Surya related to Reema?  

A) Father  

B) Cousin  

C) Son  

D) Brother  
 

 

 
 
24) एक मिहला रीमा सूयाᭅ के साथ खरीदारी कर रही थी तभी सीमा 
से मलुाकात ᱟई और सूयाᭅ का पᳯरचय करात ेᱟए रीमा बोली, "मरेा 
मामा और उसके मामा के मामा दोनᲂ भाई ह।ᱹ" सूयाᭅ, रीमा का ᭍या लग 
सकता ह?ै  

A) िपता  

B) ममेरा भाई  

C) बेटा  

D) भाई  
 

 

 

25) Among the given triads of terms, identify the terms in 
which triad are similar to each other?  

A) 1096, 1024 and 981  

B) 32, 81 and 122  

C) 438, 298 and 564  

D) 256, 81 and 1296  
 

 

 

25) ᳰदए गए तीन पदᲂ मᱶ से, उन अंको कᳱ पहचान करᱶ िजसमᱶ तीनᲂ 
एक दसूरे के समान ह?ᱹ  

A) 1096, 1024 और 981  

B) 32, 81 और 122  

C) 438, 298 और 564  

D) 256, 81 और 1296  
 

 

 
 
26) On every odd day, Ramesh eats half of the apples he 
has. On every even day, he eats one third of the apples 
he has. After 7 days, he has 22 apples. How many apples 
did he eat on second day?  

A) 198  

B) 99  

C) 132  

D) 66  
 

 

 
 
26) हर िवषम ᳰदन मᱶ, रमशे अपन ेपास सेब के आधे खाता ह।ै हर सम 
ᳰदन वह अपन ेसेब के एक ितहाई खाता ह।ै 7 ᳰदनᲂ के बाद, उसके पास 
22 सेब ह,ᱹ दसूरे ᳰदन उसन ेᳰकतन ेसेब खाए?  
 

A) 198  

B) 99  

C) 132  

D) 66  
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27) The next term in the series 66, 54, 44, 36, 30, 26, 
____ is  

A) 22  

B) 25  

C) 23  

D) 24  
 

 

27) ᮰ृंखला 66, 54, 44, 36, 30, 26, ____ मᱶ अगली सं᭎या ह ै 
 

A) 22  

B) 25  

C) 23  

D) 24  
 

 

 
 
28) Which of these relations will give a similar result as 
the following relation: My sister?  

A) Sister of my brother's wife  

B) Daughter of the my paternal grandfather's only son  

C) Mother of my brother  

D) Wife of my only brother in law  
 

 

 
 
28) इनमᱶ से कौन से संबंध िन᳜िलिखत संबंध के समान पᳯरणाम दतेा 
ह:ै मेरी बहन?  

A) मेरे भाई कᳱ प᳀ी कᳱ बहन  

B) मेरे दादाजी के इकलौते बेटे कᳱ बेटी  

C) मेरे भाई कᳱ माँ  

D) मेरे एकमाᮢ बहनोई कᳱ प᳀ी  
 

 

 
 
29) Among the given triads of terms, identify the terms in 
which triad are similar to each other?  

A) India - Mars - Pool  

B) Haiti - Indonesia - USA  

C) Mumbai - Dhaka - Germany  

D) Zimbabwe - Kenya - Nigeria  
 

 

 
 
29) ᳰदए गए तीन पदᲂ मᱶ से, उन श᭣दᲂ कᳱ पहचान करᱶ िजसमᱶ तीनᲂ 
एक दसूरे के समान ह?ᱹ  

A) भारत - मंगल - पलू  

B) हतैी - इंडोनेिशया - यू एस ए  

C) मुंबई - ढाका - जमᭅनी  

D) िज᭥बा᭣व े- के᭠या - नाइजीᳯरया  
 

 

 
 
30) Rani and Raja are playing a game. They have equal 
positive amounts of money with them. Rani gave half of 
her money to Raja, and then Raja gives half of money to 
Rani. This process is repeated infinitely. After at least 
how many rounds they will have equal amounts of money 
again?  

A) 11  

B) 1  

C) Never  

D) Depends on the amount of money  
 

 

 
 
30) रानी और राजा एक खेल खले रह ेह।ᱹ उनके पास बराबर सकारा᭜मक 
धन ह ैरानी ने अपन ेपैसे का आधा राजा को ᳰदया, और तब राजा रानी 
को आधा पैसा दते ेह।ᱹ इस ᮧᳰᮓया को अन᭠त ᱨप से दोहराया गया ह।ै 
कम से कम ᳰकतन ेमोड़ के बाद उनके पास समान धन ᳰफर से होगी? 
  
 

A) 11  

B) 1  

C) कभी नही ँ 

D) धन कᳱ माᮢा पर िनभᭅर करता ह ै 
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31) Which figure is different from the other pictures in fig 
36?  
Figure 36: 

 
 

A) a  

B) d  

C) c  

D) b  
 

 

31) िचᮢ 36 मᱶ कौन सी आकृित अ᭠य आकृितयᲂ से िभ᳖ ह?ै  
िचᮢ 36: 
 

 
 

A) a  

B) d  

C) c  

D) b  
 

 

 
 
32) Adding two natural numbers gives a three-digit 
number. Both numbers have same number of digits. 
What could be the minimum value of their product?  

A) 900  

B) 2500  

C) Cannot be determined  

D) 1200  
 

 

 
 
32) दो ᮧाकृितक सं᭎याᲐ को जोड़ने पर एक तीन अंकᳱय सं᭎या बनती 
ह।ै दोनᲂ सं᭎याᲐ मᱶ समान अंक ह।ै उनके गुणनफल का ᭠यूनतम मान 
᭍या हो सकता ह?ै  

A) 900  

B) 2500  

C) िनधाᭅᳯरत नहᱭ ᳰकया जा सकता ह ै 

D) 1200  
 

 

 
 
33) There are 4 boys, P, Q, R and S. The priority given 
to them in taking a defending position in football game is 
P>R>Q>S, in taking an attacking position is S>R>Q>P 
and in taking mid field position is P>S>Q>R. If all four are 
available, then who will take defending position provided 
P takes midfield?  

A) P  

B) Q  

C) S  

D) R  
 

 

 
 
33) 4 लड़के, P, Q, R और S ह।ᱹ फुटबॉल के खेल मᱶ एक बचाव कᳱ 
ि᭭थित दनेे मᱶ उ᭠हᱶ दी गई ᮧाथिमकता P>R>Q>S ह,ै हमल ेकᳱ ि᭭थित 
मᱶ S>R>Q>P और म᭟य ᭃेᮢ कᳱ ि᭭थित P>S>Q>R ले रही ह।ै यᳰद 
चारᲂ उपल᭣ध ह,ᱹ तो कौन बचाव कᳱ ि᭭थित ल ेलगेा अगर P म᭟य ᭃेᮢ  
लेता ह?ै 
  

A) P  

B) Q  

C) S  

D) R  
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34) How many circles are there in the following figure?   

 
A) 11  

B) 10  

C) 8  

D) 14  
 

 

34) िन᳜िलिखत िचᮢ मᱶ ᳰकतने वᱫृ ह?ᱹ   

 
A) 11  

B) 10  

C) 8  

D) 14  
 

 

 

35) The average marks of the students of a class was 52 
where the average marks of the 20 percent most brilliant 
students was 80 while the average marks of the poorest 
25 percent students was 31. What was the average score 
of the remaining 55 percent of the studends?  

A) 53.33 approx  

B) 51.40 approx  

C) 54.87 approx  

D) 52.67 approx  
 

 

 

35) एक कᭃा के छाᮢᲂ का  औसत अंक 52 था, जहां 20 ᮧितशत सबसे 
अिधक ᮧितभाशाली छाᮢᲂ का औसत अंक 80 था, जबᳰक सबसे खराब 
25 ᮧितशत छाᮢᲂ का औसत अंक 31 था। शेष 55 ᮧितशत छाᮢᲂ का 
औसत ᭭कोर ᭍या था ?  
 

A) लगभग 53.33  

B) लगभग 51.40  

C) लगभग 54.87  

D) लगभग 52.67  
 

 

 
 
36) What are the total number of triangles in the given 
figure?   

 
A) 48  

B) 65  

C) 50  

D) 30  
 

 

 
 
36) ᳰदए गए िचᮢ मᱶ िᮢकोण कᳱ कुल सं᭎या ᭍या ह?ै 
   

 
A) 48  

B) 65  

C) 50  

D) 30  
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37) Which of these options can be judged from one of the 
remaining three options?  

A) Kiran is brother of Radha  

B) Neetu is mother of both Radha and Madhu  

C) Kiran and Radha are siblings  

D) Radha and Madhu are sisters  
 

 

37) इनमᱶ से कौन सा िवक᭨प शषे तीन िवक᭨पᲂ मᱶ से एक से आंका जा 
सकता ह?ै  

A) ᳰकरण राधा का भाई ह ै 

B) नीतू राधा और मधु दोनᲂ कᳱ माँ ह ै 

C) ᳰकरण और राधा एक ही माँ के संतान ह ᱹ 

D) राधा और मध ुबहनᱶ ह ᱹ 
 

 

 

38) The difference of two numbers is 830 and one 
number is 60 percent of the other. What is the largest 
number?  

A) 2075  

B) 1385  

C) 1245  

D) 1825  
 

 

 

38) दो सं᭎याᲐ का अंतर 830 ह ैऔर एक सं᭎या दसूरे का 60 ᮧितशत 
ह।ै तो सबसे बड़ी सं᭎या ᭍या ह?ै  

A) 2075  

B) 1385  

C) 1245  

D) 1825  
 

 

 
 
39) Ravi has answered twice as many sums wrong as 
against the one he has done correct in a test. If he 
attempted all the 54 questions in the test, how many did 
he solve correctly?  

A) 24  

B) 12  

C) 18  

D) 36  
 

 

 
 
39) एक परीᭃा मᱶ रिव न ेएक सही जवाब का दोगनुा गलत जवाब ᳰदया 
ह।ै अगर उसन ेपरीᭃा मᱶ सभी 54 ᮧ᳤ᲂ को हल करन ेका ᮧयास ᳰकया, 
तो उसन ेᳰकतन ेᮧ᳤ᲂ का सही तरीके से हल ᳰकया?  
 

A) 24  

B) 12  

C) 18  

D) 36  
 

 

 
 
40) Look at this series: 0, 6, 20, 42, 72. What number 
should come next in this series?  

A) 90  

B) 87  

C) 92  

D) 110  
 

 

 
 
40) इस ᮰ृखंला को दिेखए: 0, 6, 20, 42, 72   इस ᮰ृंखला मᱶ आग े
कौन सी सं᭎या आनी चािहए?  

A) 90  

B) 87  

C) 92  

D) 110  
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41) What can be the coded form of the string DDCA from 
the following figure?  
Figure: 

 
A) 32, 24, 01, 43  

B) 24, 11, 44, 33  

C) 00, 32, 31, 22  

D) 00, 11, 31, 42  
 

 

41) िन᳜ िचᮢ से ᮰ृखंला DDCA का कूट ब᳍ ᳰकया ᱟआ ᱨप ᭍या हो 
सकता ह?ै  
िचᮢ: 

 
A) 32, 24, 01, 43  

B) 24, 11, 44, 33  

C) 00, 32, 31, 22  

D) 00, 11, 31, 42  
 

 

 
 
42) While introducing Ravi to her Husband, Sunita said, 
“His brother’s father is the only child of my grandfather.” 
How is Sunita related to Ravi?  

A) Mother  

B) Daughter  

C) Aunty  

D) Sister  
 

 

 
 
42) रिव का अपन ेपित से पᳯरचय दतेे ᱟए सुनीता ने कहा, "उनके भाई 
के िपता मेरे दादा के एकमाᮢ बेटे ह।ᱹ" सुनीता रिव कᳱ ᭍या लगती ह?ै  
 

A) माता  

B) बेटी  

C) चाची  

D) बहन  
 

 

 
 
43) In a certain code language ‘123’ is written as ‘hot 
filtered coffee’, ‘356’ is written as ‘very hot day’ and ‘589’ 
is written as ‘day and night’. Which digit in that code does 
mean ‘very’?  

A) 5  

B) 9  

C) 3  

D) 6  
 

 

 
 
43) एक िनि᳟त कूट भाषा मᱶ '123' को ‘hot filtered coffee' के ᱨप 
मᱶ, '356' को ‘very hot day’’ के ᱨप मᱶ और '589' को ‘day and 
night’, के ᱨप मᱶ िलखा गया ह ै। उस कूट कᳱ कौन सी सं᭎या का मतलब 
'very' ह?ै  

A) 5  

B) 9  

C) 3  

D) 6  
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44) First 25 letters of the alphabet series are arranged in 
5 rows. Each row has 5 letters. The alphabets diagonal 
with E are  

A) HMRQ  

B) OSRV  

C) IMQU  

D) JNRV  
 

 

44) वणᭅमाला ᮰ृखंला के पहले 25 अᭃरᲂ को 5 पंिᲦयᲂ मᱶ ᳞वि᭭थत 
ᳰकया जाता ह।ै ᮧ᭜येक पंिᲦ मᱶ 5 अᭃर ह।ᱹ E के साथ िवकणᭅ मᱶ कौन से 
अᭃर ह?ᱹ 
  

A) HMRQ  

B) OSRV  

C) IMQU  

D) JNRV  
 

 

 
 
45) In an office, out of 30 employees, 14 can read Bengali 
while 16 can read Hindi but 6 of them cannot read either 
Bengali or Hindi. How many can read both Bengali and 
Hindi?  

A) 0  

B) 4  

C) 8  

D) 6  
 

 

 
 
45) एक कायाᭅलय मᱶ, 30 कमᭅचाᳯरयᲂ मᱶ से 14 बगंाली पढ़ सकते ह,ᱹ 
जबᳰक 16 ᳲहदंी पढ़ सकते ह,ᱹ लेᳰकन उनमᱶ से 6 या तो बंगाली या ᳲहदंी 
नहᱭ पढ़ सकते ह।ᱹ ᳰकतन ेबगंाली और ᳲहदंी दोनᲂ पढ़ सकत ेह?ᱹ  
 

A) 0  

B) 4  

C) 8  

D) 6  
 

 

 
 
46) If 'bcd’ is written as ‘def’, then what is the code for 
‘true’?  

A) vtwg  

B) fjmw  

C) kpuz  

D) dcek  
 

 

 
 
46) यᳰद 'bcd' को 'def' के ᱨप मᱶ िलखा गया ह,ै तो 'true' के िलए 
᭍या कूट होगा?  

A) vtwg  

B) fjmw  

C) kpuz  

D) dcek  
 

 

 
 
47) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Soldiers : Army :: Nomads : ____________ . 

A) Herd  

B) Bundle  

C) Heap  

D) Horde  
 

 

 
 
47) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
सैिनक: सेना :: बंजारे : ____________। 

A) झुंड  

B) गᲶा  

C) ढेर  

D) िगरोह  
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48) If KNOWLEDGE is written as 256535475, what is 
written for GENERAL?  

A) 7552291  

B) 7559913  

C) 6789912  

D) 7555913  
 

 

48) यᳰद KNOWLEDGE को 256535475 के ᱨप मᱶ िलखा गया ह,ै 
तो GENERAL के िलए ᭍या िलखा जाएगा?  

A) 7552291  

B) 7559913  

C) 6789912  

D) 7555913  
 

 

 
 
49) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Absence : Presence :: Elementary : __________ . 

A) Basic  

B) Advanced  

C) Fundamental  

D) Critical  
 

 

 
 
49) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा:  
अनुपि᭭थित: उपि᭭थित :: मौिलक: __________ 

A) मूलभूत  

B) उ᳖त  

C) सारभूत  

D) मह᭜वपणूᭅ  
 

 

 
 
50) Find the odd one out.  

 
A) C  

B) D  

C) B  

D) A  
 

 

 
 
50) िवषम पद को खोजᱶ।  

 
A) C  

B) D  

C) B  

D) A  
 

 

 
 
51) If B>C>D, D=T, P<T, then which of the following 
relations will be true?  

A) C>P  

B) P = D  

C) B<P  

D) B=C  
 

 

 
 
51) यᳰद B>C>D, D=T, P<T, तो िन᳜िलिखत संबधंᲂ मᱶ से कौनसा 
सच होगा?  

A) C>P  

B) P = D  

C) B<P  

D) B=C  
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52) Seema introduced Ravi as the brother of her uncle’s 
daughter. Who is Ravi to Seema?  

A) Paternal Uncle  

B) Son  

C) Cousin  

D) Nephew  
 

 

52) सीमा ने अपन ेचाचा कᳱ बेटी के भाई के ᱨप मᱶ रिव का पᳯरचय 
कराया ह।ै रिव सीमा का ᭍या लगता ह?ै  

A) चाचा  

B) बेटा  

C) चचेरा भाई  

D) भतीजा  
 

 

 
 
53) How many triangles are there in the given figure? 

   

A) 6  

B) 10  

C) 8  

D) 4  
 

 

 
 
53) ᳰदए गए िचᮢ मᱶ ᳰकतन ेिᮢकोण ह?ᱹ 

 
A) 6  

B) 10  

C) 8  

D) 4  
 

 

 
 
54) Select one of the following four options that will make 
the second pair analogous to the first pair given as:  
Precipitate : Catalyst :: Placate : _____________ . 
A) Satisfy  

B) Replenish  

C) Renew  

D) Aggravate  
 

 

 
 
54) िन᳜िलिखत चार िवक᭨पᲂ मᱶ से एक का चयन करᱶ जो दसूरी जोड़ी 
को पहली जोड़ी के अनुᱨप बना दगेा: अनपेिᭃत :: आवजेक :: शांत 
करना : _____________।  

A) संतु᳥ करना  

B) पूᳶतᭅ करना  

C) नवीकरण  

D) भड़का दनेा  
 

 

 

55) The missing term in the series 41, 85, 145, 221, 313, 
____, 545 is  

A) 401  

B) 469  

C) 421  

D) 441  
 

 

 
 
55) ᮰ृंखला 41, 85, 145, 221, 313, ____, 545 मᱶ अनपुि᭭थत 
सं᭎या ह ै 

A) 401  

B) 469  

C) 421  

D) 441  
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56) Which of these options can be judged from one of the 
remaining three options?  

A) If P is doubled, it becomes a perfect square  

B) If P is made thrice, it becomes a perfect square  

C) P is not odd  

D) P is prime  
 

 

56) इनमᱶ से कौन सा िवक᭨प शषे तीन िवक᭨पᲂ मᱶ से एक से आंका जा 
सकता ह?ै  

A) यᳰद P को दोगुना ᳰकया जाता ह,ै तो वह एक शु᳍ वगᭅ बन जाता 
ह ै 

B) अगर P को ितगनुा ᳰकया जाता ह,ै तो वह एक शु᳍ वगᭅ बन जाता 
ह ै 

C) P िवषम सं᭎या नहᱭ ह ै 

D) P अभा᭔य सं᭎या ह ै 
 

 

 
 
57) Which of the images amongst 1, 2, 3 and 4 is the 
correct water image of the following figure X? 
 

 
 

A) Image 4  

B) Image 1  

C) Image 2  

D) Image 3  
 

 

 
 
57) िन᳜ िचᮢ X के िलए ᳰदये गये 1, 2, 3 और 4 ᮧितिब᭥बᲂ मᱶ से कौन 
सा सही जल ᮧितिब᭥ब ह?ै 
   

 
 

A) ᮧितिब᭥ब 4  

B) ᮧितिब᭥ब 1  

C) ᮧितिब᭥ब 2  

D) ᮧितिब᭥ब 3  
 

 

 

58) How many triangles can you count in the given 
figure? 
   

 
 

A) 35  

B) 27  

C) 29  

D) 31  
 

 

 

58) ᳰदए गए िचᮢ मᱶ ᳰकतन ेिᮢकोण ह?ᱹ 
   

 
 

A) 35  

B) 27  

C) 29  

D) 31  
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59) Find the odd one out.  

A) Loyal  

B) Treacherous  

C) Unswerving  

D) Faithful  
 

 

59) िवषम पद को खोजᱶ।  

A) िन᳧ावान  

B) िव᳡ासघाती  

C) अटल  

D) भरोसेमंद  
 

 

 
 
60) Two dices are always placed on a floor in such a way 
that the sum on the top of their faces should be 7. In how 
many different ways, they can be kept?  

A) 4  

B) 5  

C) 3  

D) 6  
 

 

 
 
60) दो पासे हमेशा एक फशᭅ पर ऐसे रखे जाते ह ᱹᳰक उनके फलकᲂ के 
ऊपरी भाग का योग 7 हो। ᳰकतने अलग-अलग तरीकᲂ से, उ᭠हᱶ रखा जा 
सकता ह?ै  

A) 4  

B) 5  

C) 3  

D) 6  
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Section 2 - Part B-General Awareness  
 

61) Which of the following organizations has 
indigenously developed Drishti, an instrument that will 
provide real time visibility information to pilots?  

A) Indian Space Research Organization  

B) Center for Industrial and Scientific Research  

C) Defence Research and Development Organization  

D) India Meteorological Department  
 

 

61) िन᳜िलिखत संगठनᲂ मᱶ से ᳰकसन े ᭭वदशेी ᱨप से 'दिृ᳥' नामक 
उपकरण िवकिसत ᳰकया ह,ै जो पायलटᲂ को वा᭭तिवक समय दृ᭫ यता 
जानकारी ᮧदान करेगा?  

A) भारतीय अंतᳯरᭃ अनुसंधान संगठन  

B) वै᭄ािनक एव ंऔ᳒ोिगक अनुसंधान पᳯरषद  

C) रᭃा अनुसंधान और िवकास संगठन  

D) भारतीय मौसम िव᭄ान िवभाग  
 

 

 
 
62) What is the chemical name of Vitamin B2?  

A) Niacin  

B) Cyanocobalamin  

C) Riboflavin  

D) Folic acid  
 

 

 
 
62) िवटािमन B2 का रासायिनक नाम ᭍या ह?ै  

A) िनयािसन  

B) साइनोकोबालिमन  

C) राइबो᭢लेिवन  

D) फोिलक एिसड  
 

 

 
 
63) The Eighth Schedule of the Indian Constitution 
speaks about:  

A) State Legislatures  

B) Allocation of seats in the Council of States  

C) Provisions for the President and Governor of States 

D) Indian Languages  
 

 

 
 
63) भारतीय संिवधान कᳱ आठवᱭ अनुसूची ᳰकसके बारे मᱶ ह:ै  
 

A) रा᭔य िवधानपािलका  

B) रा᭔यᲂ कᳱ पᳯरषद मᱶ सीटᲂ का आवंटन  

C) रा᭔यᲂ के रा᳦पित और रा᭔यपाल के िलए ᮧावधान  

D) भारतीय भाषाए ं 
 

 

 
 
64) Who among the following holds the highest elective 
office of India?  

A) President  

B) Prime Minister  

C) Election Commissioner  

D) Supreme Court Judge  
 

 

 
 
64) िन᳜िलिखत मᱶ से कौन भारत का उᲬतम िनवाᭅिचत कायाᭅलय 
रखता ह?ै  

A) रा᳦पित  

B) ᮧधान मंᮢ ी  

C) चुनाव आयुᲦ  

D) सुᮧीम कोटᭅ जज  
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65) Who among the following constructed the city, 
Tughluqabad (the third of the seven cities of Delhi)?  

A) Ghiyasuddin Tughluq  

B) Muhammad bin Tughluq  

C) Ghiasuddin Balban  

D) Firoz Tughluq  
 

 

65) िन᳜िलिखत मᱶ से ᳰकसन ेतुगलकाबाद शहर(ᳰद᭨ली के सात शहरᲂ 
मᱶ से तीसरा) का िनमाᭅण ᳰकया?  

A) गीयासु᳎ीन तुगलक  

B) मुह᭥मद िबन तुगलक  

C) गयासु᳎ीन बलबान  

D) ᳰफरोज़ तुगलक  
 

 

 
 
66) As per the Constitution (73rd Amendment) Act, 1992, 
one-third of the total number of seats are reserved for 
women in which of the following political institutions of 
India?  

A) Rajya Sabha  

B) Lok Sabha  

C) Vidhan Sabha  

D) Panchayats  
 

 

 
 
66) संिवधान (73 वां संशोधन) अिधिनयम, 1992 के अनुसार, भारत 
कᳱ िन᳜िलिखत राजनीितक सं᭭थाᲐ मᱶ से ᳰकस मᱶ एक ितहाई सीटᱶ 
मिहलाᲐ के िलए आरिᭃत ह?ᱹ  
 

A) रा᭔य सभा  

B) लोक सभा  

C) िवधान सभा  

D) पंचायत  
 

 

 
 
67) Who won the men's title in the IBSF World Snooker 
Championship in 2014 and became the youngest player 
to do so?  

A) Tang Jun  

B) He Guoqiang  

C) Yan Bingtao  

D) Lin Shuai  
 

 

 
 
67) 2014 मᱶ IBSF व᭨डᭅ ᳩूकर चैि᭥पयनिशप मᱶ पुᱧष का िखताब 
ᳰकसन ेजीता और ऐसा करन ेके िलए सबसे कम उ᮫ के िखलाड़ी बन 
गए? 
  

A) तांग जनू  

B) ही गुओᳰकआंग  

C) यान ᳲबंगटाओ  

D) िलन शुआई  
 

 

 
 
68) Which term for a public good indicates that it is either 
costly or impossible for one user to exclude others from 
using it?  

A) Rivalrous  

B) Nonexcludable  

C) Excludable  

D) Nonrivalrous  
 

 

 
 
68) ᳰकसी सावᭅजिनक व᭭तु (पि᭣लक गुड) के िलए कौन सा श᭣द यह 
इंिगत करता ह ैᳰक वो या तो महगंा ह ैया दसूरᲂ को उसका पयोग करन े
से वᳶजᭅत करना एक ᮧयोᲦा के िलए असंभव ह?ै  

A) राइवलरस  

B) नॉन ए᭍स᭍लूडबेल  

C) ए᭍स᭍लूडबेल  

D) नॉन राइवलरस  
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69) What does CASA mean, with relation to the Banking 
sectors in India?  

A) Capital Account and Securities Account  

B) Consumer Account and Supplier Account  

C) Capital Account and Savings Account  

D) Current Account and Savings Account  
 

 

69) भारत मᱶ बᱹ᳴कंग ᭃेᮢᲂ से संबंिधत CASA ᭍या ह?ै  
 

A) कॅिपटल अकाउंट एंड िस᭍योᳯरटीज अकाउंट  

B) कं᭭यूमर अकाउंट एंड स᭡लायर अकाउंट  

C) कॅिपटल अकाउंट एंड सेᳲव᭏ंस अकाउंट  

D) करंट अकाउंट एंड सेᳲव᭏ंस अकाउंट  
 

 

 
 
70) In June 2017, Indian Meteorological Department and 
which organization developed the weather portal for 
power sector known as 'MERIT'?  

A) BHEL  

B) POSOCO  

C) Bharat Electronics Ltd  

D) Reliance Power  
 

 

 
 
70) जून 2017 मᱶ, भारतीय मौसम िव᭄ान िवभाग और ᳰकस संगठन न े
'MERIT' नामक मौसम पोटᭅल ऊजाᭅ ᭃेᮢ के िलए िवकिसत ᳰकया?  
 

A) BHEL  

B) POSOCO  

C) भारत इले᭍ᮝॉिन᭍स िलिमटेड  

D) ᳯरलायंस पॉवर  
 

 

 
 
71) Who among the following established the India 
House in London?  

A) Shyamji Krishnavarma  

B) Madan Lal Dhingra  

C) Bikaji Rustam Cama  

D) V.D. Savarkar  
 

 

 
 
71) िन᳜िलिखत मᱶ से ᳰकसन ेलंदन मᱶ भारत हाउस ᭭थािपत ᳰकया? 
  

A) ᭫यामजी कृ᭬णवमाᭅ  

B) मदन लाल ᳴ढंᮕा  

C) बीकाजी ᱧ᭭तम कामा  

D) वी.डी. सावरकर  
 

 

 
 
72) The coloured dots on the squash balls denotes which 
of the following?  

A) Surface finish  

B) Material of the ball  

C) Level of bounce  

D) Shape of the ball  
 

 

 
 
72) ᭭Ფैश गᱶदᲂ पर रंगीन डॉ᭗स िन᳜िलिखत मᱶ से ᭍या िन᳸दᭅ᳥  करता 
ह?ᱹ  

A) सतह का परीसᲯा  

B) गᱶद का पदाथᭅ  

C) बाउंस का ᭭तर  

D) गᱶद का आकार  
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73) What do the pneumatic bones in Avians indicate 
about the bone structure?  

A) Heavy weight bones  

B) Light weight bones  

C) Coarse bones  

D) Multiple bones  
 

 

73) एिवयन (पᭃी संबंधी) मᱶ वायवीय हि᲻यां (᭠युमेᳯटक बो᭠स), ह᲻ी 
कᳱ संरचना के बारे मᱶ ᭍या दशाᭅत ेह?ᱹ  

A) हि᲻यᲂ का वजन भारी  

B) ह᭨के वजन कᳱ हि᲻यां  

C) मोटे हि᲻यां  

D) कई हि᲻यां  
 

 

 
 
74) Which is the second largest river of West Bengal on 
whose bank lies the town of Jalpaiguri?  

A) Yamuna  

B) Ganges  

C) Brahmaputra  

D) Teesta  
 

 

 
 
74) पि᳟म बंगाल कᳱ दसूरी सबसे बड़ी नदी कौन सी ह ैिजसके तट पर 
जलपाईगुड़ी शहर ि᭭थत ह?ै  

A) यमुना  

B) गंगा  

C) ᮩᳬपुᮢ   

D) ती᭭ता  
 

 

 
 
75) The dance drama known as Ankiya-naat, its actual 
performance being called Bhaona is from which state of 
India?  

A) Assam  

B) Chhattisgarh  

C) Odisha  

D) Kerala  
 

 

 
 
75) अंᳰकया-नाट जो एक नृ᭜य नाटक ह ैिजसका वा᭭तिवक ᮧदशᭅन को 
भाओना कहते ह,ै भारत के ᳰकस रा᭔य से ह?ै  
 

A) असम  

B) छᱫीसगढ़  

C) ओिडशा  

D) केरल  
 

 

 
 
76) During the Presidentship of Mr Pranab Mukherjee, 
who among the following served as the Vice-President of 
India from August 2007 to July 2017?  

A) K. R. Narayanan  

B) Dr. Hamid Ansari  

C) Shankar Dayal Sharma  

D) Bhairon Singh Shekhawat  
 

 

 
 
76) जब ᮰ी ᮧणव मखुजᱮ रा᳦पित के पद पर आसीन थ,े तो अग᭭त 
2007 से जलुाई 2017 तक भारत के उपरा᳦पित के ᱨप मᱶ कायᭅ ᳰकया? 
 

A) के. आर. नारायणन  

B) डॉ. हािमद अंसारी  

C) शंकर दयाल शमाᭅ  

D) भैरᲂ ᳲसंह शखेावत  
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77) Through which of the following straits does the 
International Date Line pass through?  

A) Gibraltar Strait  

B) Bering Strait  

C) Florida Strait  

D) Malacca Strait  
 

 

77) िन᳜िलिखत मᱶ से ᳰकस जलᮕीवा से होकर अ᭠तराᭅ᳦ीय ितिथ रेखा 
गुजरती ह?ै  

A) िजᮩा᭨टर ᭭ᮝेट  

B) बेᳳरंग ᭭ᮝेट  

C) ᭢लोᳯरडा ᭭ᮝेट  

D) मलᲥा ᭭ᮝेट  
 

 

 
 
78) Who among the following was the Abyssinian slave 
of Razia?  

A) Bilal ibn Rabah  

B) Kabir Khan  

C) Altunia  

D) Yakut  
 

 

 
 
78) िन᳜िलिखत मᱶ से कौन रज़ीया का अबयिसिनयन गलुाम था?  
 

A) िबलाल इ᳛ रबा  

B) कबीर खान  

C) अ᭨तुिनया  

D) याकुट  
 

 

 
 
79) Who among the following is the constitutional head 
of the Executive of the Union?  

A) Prime Minister  

B) President  

C) Chief Justice of Supreme Court  

D) Speaker of Lok Sabha  
 

 

 
 
79) िन᳜िलिखत मᱶ से संघ के कायᭅकारी का संवैधािनक ᮧमखु कौन ह?ै 
  

A) ᮧधान मंᮢ ी  

B) रा᳦पित  

C) उᲬतम ᭠यायालय के म᭎ुय ᭠यायाधीश  

D) लोक सभा के अ᭟यᭃ  
 

 

 
 
80) Which of the following is NOT one of the designations 
previously held by the President of India, Shri Pranab 
Mukherjee?  

A) Minister for Commerce  

B) Minister of External Affairs  

C) Minister of Civil Aviation  

D) Minister of Defence  
 

 

 
 
80) िन᳜िलिखत पदᲂ मᱶ से, कौन सा एक भारत के रा᳦पित ᮰ी ᮧणब 
मुखजᱮ ᳇ारा पूवᭅ मᱶ ᮧिति᳧त नहᱭ ह?ै  
 

A) वािण᭔य मंᮢ ी  

B) िवदशे मंᮢ ी  

C) नागᳯरक िवमानन मंᮢ ी  

D) रᭃा मंᮢ ी  
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81) Which among the following dams is one of the four 
major dams on the river Chambal in Madhya Pradesh?  

A) Nangal Dam  

B) Rana Pratap  

C) Gandhi Sagar  

D) Hodal Dam  
 

 

81) िन᳜िलिखत मᱶ से कौन म᭟य ᮧदशे मᱶ चंबल नदी के चार ᮧमुख बाँधᲂ 
मᱶ से एक ह?ै  

A) नंगल बांध  

B) राणा ᮧताप  

C) गांधी सागर  

D) होदल बांध  
 

 

 
 
82) In which of the following countries, the office of the 
Prime Minister first originated?  

A) America  

B) England  

C) Canada  

D) Ireland  
 

 

 
 
82) िन᳜िलिखत मᱶ से ᳰकस दशे मᱶ ᮧधान मंᮢ ी का कायाᭅलय पहली बार 
᭭थािपत ᱟआ था?  

A) अमेᳯरका  

B) इंगलᱹड  

C) कनाडा  

D) आयरलᱹड  
 

 

 
 
83) Dadra and Nagar Haveli is one of the Union 
Territories of India. Its capital is  

A) Diu  

B) Silvassa  

C) Kavaratti  

D) Daman  
 

 

 
 
83) दादरा और नगर हवलेी भारत के कᱶ ᮤशािसत ᮧदशेᲂ मᱶ से एक ह।ै 
इसकᳱ राजधानी ᭍या ह?ै  

A) दीव  

B) िस᭨वासा  

C) कवरᱫी  

D) दमन  
 

 

 
 
84) The concepts of 'Liberty, Equality and Fraternity' in 
the Indian Constitution were inspired by the:  

A) Constitution of the Unites States of America  

B) Constitution of the Soviet Union  

C) French Constitution  

D) Canadian Constitution  
 

 

 
 
84) भारतीय संिवधान मᱶ '᭭वतंᮢता, समानता और बधंुता' कᳱ 
अवधारणा ᳰकससे ᮧेᳯरत ह?ै  

A) संयुᲦ रा᭔य अमेᳯरकᳱ संिवधान  

B) सोिवयत संघ के संिवधान  

C) ᱶᮨ च संिवधान  

D) कनाडाई संिवधान  
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85) Who among the following was one of the members 
of the Drafting Committee of the Constitution of India?  

A) Womesh Chunder Bonnerjee  

B) Vinoba Bhave  

C) N. Gopalaswami Ayyangar  

D) Lal Bahadur Shastri  
 

 

85) िन᳜िलिखत मᱶ से कौन भारत के संिवधान कᳱ िनमाᭅᮢी सिमित के 
सद᭭य थᱶ?  

A) वमेश चंदर बोनजᱮ  

B) िवनोबा भाव े 

C) एन। गोपाल᭭वामी अ᭦यंगार  

D) लाल बहादरु शाᳫी  
 

 

 
 
86) The river Cauvery reaches the Bay of Bengal at 
which of the following places?  

A) Krishnapatnam  

B) Kanyakumari  

C) Kaveripattinam  

D) Mahendragiri  
 

 

 
 
86) इनमᱶ से ᳰकन ᭭थानᲂ पर कावेरी नदी बगंाल कᳱ खाड़ी मᱶ पᱟचँती 
ह?ै 
  

A) कृ᭬णापᲵनम  

B) क᭠याकुमारी  

C) कावेरीपᳯᲵनम  

D) मह᭠ेᮤिगरी  
 

 

 
 
87) The 14th Chief Minister of Assam, Sarbananda 
Sonowal launched the ‘Chief Minister’s Award’ to 
promote which of the following activities in Assam?  

A) Adopting digital payments  

B) Improving literacy rate  

C) Saving girl child  

D) Abolishing child labour  
 

 

 
 
87) असम के 14 वᱶ मु᭎यमंᮢी, सरबानंद सोनोवाल ने असम मᱶ 
िन᳜िलिखत मᱶ से ᳰकस गितिविध को बढ़ावा दने े के िलए 'चीफ़ 
िमिन᭭टर’स अवाडᭅ' लॉ᭠च ᳰकया?  

A) िडिजटल भुगतान को अपनाना  

B) साᭃरता दर मᱶ सुधार  

C) बेटी बचाओ  

D) बाल ᮰म को ख᭜म करना  
 

 

 
 
88) Om Prakash Kohli was appointed as the Governor of 
which state on 16th July 2014?  

A) Haryana  

B) Rajasthan  

C) Bihar  

D) Gujarat  
 

 

 
 
88) 16 जुलाई 2014 को ओम ᮧकाश कोहली को ᳰकस रा᭔य के गवनᭅर 
के पद पर िनयुᲦ ᳰकया गया था?  

A) हरयाणा  

B) राज᭭थान  

C) िबहार  

D) गुजरात  
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89) Which of the following contains the Subject of 
Criminal Law and procedures?  

A) Union List  

B) State List  

C) Residual Powers  

D) Concurrent List  
 

 

89) िन᳜िलिखत मᱶ से ᳰकसमᱶ आपरािधक काननू और ᮧᳰᮓयाᲐ का 
िवषय शािमल ह?ै  

A) संघ सूची  

B) रा᭔य सूची  

C) अविश᳥ शिᲦयाँ  

D) समवतᱮ सूची  
 

 

 
 
90) From April 1st 2017, the Supreme Court of India 
banned the sale of alcohol along the National and State 
highways located within a distance of  

A) 100 m from highway  

B) 700 m from highway  

C) 300 m from highway  

D) 500 m from highway  
 

 

 
 
90) 1 अᮧैल 2017 से, भारतीय उᲬ ᭠यायालय ने रा᳦ीय और रा᭔य 
राजमागᲄ से ᳰकतनी दरूी के भीतर शराब कᳱ िबᮓᳱ पर ᮧितबधं लगा 
ᳰदया ह?ै  

A) राजमागᭅ से 100 मी. पर  

B) राजमागᭅ से 700 मी. पर  

C) राजमागᭅ से 300 मी. पर  

D) राजमागᭅ से 500 मी. पर  
 

 

 
 
91) Which one of the following is related to the Education 
system in India?  

A) Saddler Commission  

B) Mahalwari System  

C) Regulating Act  

D) Ryotwari System  
 

 

 
 
91) इनमᱶ से कौन सी भारत मᱶ िशᭃा ᮧणाली से संबंिधत ह?ै 
  

A) सैडलर कमीशन  

B) महलवारी ᮧणाली  

C) रेगुलेᳳटंग ए᭍ट  

D) रयो᭗वारी ᮧणाली  
 

 

 
 
92) In which state is Kaveripattinam located?  

A) Karnataka  

B) Odisha  

C) Assam  

D) Tamil Nadu  
 

 

 
 
92) कावेरीपᳯᲵनम ᳰकस रा᭔य मᱶ ि᭭थत ह?ै  

A) कनाᭅटक  

B) ओिडशा  

C) असम  

D) तिमलनाडु  
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93) When did Nadir Shah invade India?  

A) 1742  

B) 1740  

C) 1739  

D) 1741  
 

 

93) नाᳰदर शाह ने भारत पर आᮓमण कब ᳰकया था?  

A) 1742  

B) 1740  

C) 1739  

D) 1741  
 

 

 
 
94) In economic terms, which of the following is the best 
definition suitable for Normal Profit?  

A) The payment made to the marginal enterpreneur for 
his abilities  

B) The minimum level of profit required for a company 
to remain competitive in the market  

C) The surplus profit made by the least efficient firms to 
remain competitive in the market  

D) The profit made by marginal enterpreneur in a 
normal year  

 

 

 
 
94) आᳶथᭅक दिृ᳥ से, िन᳜ मᱶ से कौन सी पᳯरभाषा सामा᭠य लाभ के िलए 
उपयुᲦ ह?ै  

A) उनकᳱ ᭃमता के िलए सीमांत उ᳒मी को ᳰदया गया भुगतान  

B) बाजार मᱶ ᮧित᭭पधᱮ बन े रहन े के िलए कंपनी के िलए आव᭫यक 
᭠यूनतम ᭭तर लाभ  

C) बाजार मᱶ ᮧित᭭पधᱮ बन ेरहन ेके िलएकम से कम कुशल कंपिनयᲂ 
᳇ारा ᳰकए गए अिधशेष लाभ  

D) एक सामा᭠य वषᭅ मᱶ सीमांत उ᳒मी ᳇ारा ᳰकए गए लाभ  
 

 

 
 
95) When was the Asian Games held in Delhi for the first 
time?  

A) 1982  

B) 1951  

C) 1963  

D) 1971  
 

 

 
 
95) पहली बार ᳰद᭨ली मᱶ एिशयाई खलेᲂ का आयोजन कब ᱟआ था? 
  

A) 1982  

B) 1951  

C) 1963  

D) 1971  
 

 

 
 
96) The difference between the government’s total 
expenditure and its total receipts excluding borrowing in 
a given period of time is termed as  

A) Revenue Deficit  

B) Primary Deficit  

C) Fiscal Deficit  

D) Monetary Deficit  
 

 
 

 
 
96) ᳰकसी भी काल अविध मᱶ उधार लनेे को छोड़कर सरकार कᳱ कुल 
᳞य और इसकᳱ कुल रसीदᲂ मᱶ अंतर को ᭍या कहा जाता ह?ै  
 

A) रेवे᭠यू डᳰेफिसट  

B) ᮧाइमरी डᳰेफिसट  

C) ᳰफसकल डᳰेफिसट  

D) मॉनीटरी डᳰेफिसट  
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97) Who among the following was the head of Shivaji's 
Ashta Pradhan (council of ministers)?  

A) Amatya  

B) Sumant  

C) Sachiv  

D) Peshwa  
 

 

97) िन᳜िलिखत मᱶ से िशवाजी के अ᳥ ᮧधान (मंिᮢ पᳯरषद)् का ᮧमखु 
कौन था?  

A) अमा᭜य  

B) सुमंत  

C) सिचव  

D) पेशवा  
 

 

 
 
98) Who was the captain of the Indian team in the 
Kabaddi World Cup 2016?  

A) Mohit Chhillar  

B) Anup Kumar  

C) Meraj Sheykh  

D) Rohit Kumar  
 

 

 
 
98) कब᲻ी िव᳡ कप 2016 मᱶ भारतीय टीम का क᳙ान कौन था? 
  

A) मोिहत िच᭨लर  

B) अनुप कुमार  

C) मेरज शेख  

D) रोिहत कुमार  
 

 

 
 
99) Who beat Stephan Hansen in the final of the 
compound men’s shoot-off at the 2017 Hyundai Archery 
World Cup in Salt Lake?  

A) Mike Schloesser  

B) Bridger Deaton  

C) Rodolfo Gonzalez  

D) Linda Ochoa-Anderson  
 

 

 
 
99) सा᭨ट लेक मᱶ 2017 ᱟडंई तीरंदाजी िव᳡ कप मᱶ िमि᮰त पुᱧषᲂ कᳱ 
शूट-ऑफ फाइनल मᱶ ᭭टीफन हनैसेन को ᳰकसन ेहराया था?  
 

A) माइक ᳣ोसेर  

B) िᮩजर डटेन  

C) रॉ᭨डोफो गᲂजालेज  

D) ᳲलंडा ओचो-एंडरसन  
 

 

 
 
100) In May 2018, in a railway station beautification 
competition organized by Indian Railways, two stations 
of Maharashtra became the nation’s “most beautiful” 
railway stations by securing the first position. One of 
them is Ballarpur. What is the other one?  

A) Makudi  

B) Lonavala  

C) Khandala  

D) Chandrapur  
 

 

 
 
100) मई 2018 मᱶ, भारतीय रेलवे ᳇ारा आयोिजत रेलवे ᭭टेशन 
सᲅदयᱮकरण कᳱ एक ᮧितयोिगता मᱶ, महारा᳦ के दो ᭭ टेशन पहली ि᭭थित 
को हािसल करके रा᳦ के "सबसे खूबसूरत" रेलव े᭭टेशन बन गए। उनमᱶ 
से एक ब᭨लारपुर ह।ै दसूरा कौन सा ह?ै  
 

A) मकुडी  

B) लोनावाला  

C) खंडाला  

D) चंᮤपुर  
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101) Preservation and protection of livestock' is one of 
the items in the few types of lists, discussed under the 
Seventh Schedule of the Indian Constitution. Identify the 
list among the following which states about this item.  

A) The Centre List  

B) The List III  

C) The List I  

D) The State List  
 

 

101) भारतीय संिवधान कᳱ सातवᱭ अनुसूची के तहत चचाᭅ कᳱ गई कुछ 
ᮧकार कᳱ सूिचयᲂ मᱶ से, 'पशुᲐ के संरᭃण और सुरᭃा' एक िह᭭सा ह।ै 
इस मद के बारे मᱶ बतान ेवाले सूची को पहचानᱶ।  
 

A) कᱶ ᮤ सूची  

B) सूची III  

C) सूची I  

D) रा᭔य सूची  
 

 

 
 
102) As per the 44th Amendment of the Indian 
Constitution, the President of India shall act in 
accordance with advice tendered by the:  

A) Council of Ministers  

B) High Court Judge  

C) Supreme Court Judge  

D) Governor of the Maharashtra State  
 

 

 
 
102) भारतीय संिवधान के 44 वᱶ संशोधन के अनुसार, िन᳜ मᱶ से ᳰकसके 
᳇ारा ᮧ᭭तुत सलाह के अनुसार, भारत के रा᳦पित कायᭅ करेगा:  
 

A) मंिᮢमंडल  

B) उᲬ ᭠यायालय के ᭠यायाधीश  

C) सुᮧीम कोटᭅ के ᭠यायाधीश  

D) महारा᳦ रा᭔य के रा᭔यपाल  
 

 

 
 
103) Kamsale a martial and ritual dance form similar in 
many ways to stick dances but instead of stick, the 
participants hold in one hand a sharp-edged bronze 
cymbal and in the other they hold a bowl-shaped bronze 
instrument, is practised in which state of India?  

A) Uttar Pradesh  

B) Karnataka  

C) West Bengal  

D) Assam  
 

 

 
 
103) क᭥साल ेजो एक सामᳯरक और अनु᳧ान नृ᭜य ᱨप ह ैजो कई तरह 
से छड़ी नृ᭜य के समान ह ᱹऔर ᮧितभािगयᲂ के एक हाथ मᱶ एक तेज धार 
वाली कां᭭य झांझनी होती ह ैऔर दसूरे मᱶ व ेएक कटोरे के आकार का 
कांसे का यंᮢ रखत ेह,ᱹ यह भारत के ᳰकस रा᭔य मᱶ अ᭣यास कᳱ जाती ह?ै 
 

A) उᱫर ᮧदशे  

B) कनाᭅटक  

C) पि᳟म बंगाल  

D) असम  
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104) Which of the following is an example of a non-
rechargeable battery commonly used in toys, calculators, 
watches etc.?  

A) Lithium-ion  

B) Nickel–cadmium  

C) Silver-oxide  

D) Lead–acid  
 

 

104) िन᳜ मᱶ से कौन सा एक गैर-ᳯरचाजᱷबल बैटरी का उदाहरण ह ैजो 
िखलौन,े कैलकुलेटर, घिड़यां आᳰद मᱶ सामा᭠यतः इ᭭तेमाल ᳰकया जाता 
ह?ै 
  

A) िलिथयम-आयन  

B) िनकल-कैडिमयम  

C) िस᭨वर-ऑ᭍साइड  

D) लेड-एिसड  
 

 

 
 
105) Who invented basketball?  

A) Ralph Baer  

B) Frank Zamboni  

C) Milton Bradley  

D) James Naismith  
 

 

 
 
105) ᳰकसन ेबा᭭केटबॉल का आिव᭬कार ᳰकया?  

A) रा᭨फ बायर  

B) ᮨᱹक जांबोनी  

C) िम᭨टन ᮩाडली  

D) जे᭥स नैि᭭मथ  
 

 

 
 
106) Ashtavadhanam is a form of art that literally means 

A) Eighth day after death  

B) Eighth day after birth  

C) Eight-fold concentration  

D) Eight-fold path of yoga  
 

 

 
 
106) अ᳥ावदानम कला का एक ᱨप ह ैिजसका शाि᭣दक मतलब ह ै 

A) मृ᭜यु के आठवᱶ ᳰदन बाद  

B) ज᭠म के आठवᱶ ᳰदन बाद  

C) आठ गुना एकाᮕता  

D) योग का आठ गनुा मागᭅ  
 

 

 
 
107) The solar cells used to generate electricity work on 
which of the following phenomena?  

A) Barnett effect  

B) Faraday effect  

C) Bridgman effect  

D) Photovoltaic effect  
 

 

 
 
107) सौर सेल जो िबजली पैदा करन ेके िलए इ᭭तेमाल ᳰकए जातᱶ ह,ᱹ 
िन᳜िलिखत मᱶ से ᳰकस ᮧᳰᮓया के अनुसार काम करत ेह?ᱹ  

A) बानᱷट ᮧभाव  

B) फैराड ेᮧभाव  

C) िᮩजमनै ᮧभाव  

D) फोटोवोि᭨टक ᮧभाव  
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108) Which of the following is a bowed stringed musical 
instrument from Bengal?  

A) Chikara  

B) Shehnai  

C) Jaltarang  

D) Sundari  
 

 

108) िन᳜िलिखत मᱶ से बगंाल कᳱ घमुावदार तार संगीत वा᳒यंᮢ कौन 
सा ह?ै  

A) िचकारा  

B) शहनाई  

C) जलतरंग  

D) संुदरी  
 

 

 
 
109) What is the function of a thermostat in an electric 
water heater?  

A) It prevents the heater from explosion during 
abnormal conditions  

B) It helps in heating the cold water  

C) It holds the water  

D) It controls the temperature within the tank  
 

 

 
 
109) इलेि᭍ᮝक वॉटर हीटर मᱶ थमᲃ᭭टैट का ᭍या कायᭅ ह?ै  
 

A) यह असामा᭠य ि᭭थितयᲂ के दौरान, हीटर को िव᭭फोट से रोकता ह ै

B) यह ठंड ेपानी को गमᭅ करन ेमᱶ मदद करता ह ै 

C) यह पानी धारण ᳰकए रखता ह ै 

D) यह टᱹक के भीतर का तापमान िनयंिᮢत करता ह ै 
 

 

 
 
110) Which of the following is the newly discovered 
Earth-like planet orbiting the closest star to the sun?  

A) Proxima B  

B) 19P/Borrely  

C) Shoemaker-Levy 9  

D) Hale-Bopp  
 

 

 
 
110) इनमᱶ से कौन सा नया खोजा गया प᭝ृवी कᳱ तरह का ᮕह ह ैजो 
सूयᭅ के िनकटतम तारे कᳱ पᳯरᮓमा करता ह?ै  

A) ᮧोि᭍समा B  

B) 19P/बोरेली  

C) शूमेकर-लेवी 9  

D) हले-बॉप  
 

 

 
 
111) Who is the present Chief Election Commissioner of 
India, as of April 2018?  

A) Umesh Sinha  

B) Om Prakash Rawat  

C) Sudeep Jain  

D) Chandra Bhushan Kumar  
 

 

 
 
111) अᮧैल 2018 तक भारत के वतᭅमान म᭎ुय िनवाᭅचन आयुᲦ कौन 
ह?ᱹ  

A) उमशे िस᭠हा  

B) ओम ᮧकाश रावत  

C) सुदीप जैन  

D) चंᮤ भषूण कुमार  
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112) Which among the following is considered as the 
lengthiest Constitution of the world?  

A) New Zealand Constitution  

B) Indian Constitution  

C) American Constitution  

D) United Kingdom Constitution  
 

 

112) िन᳜िलिखत मᱶ से कौन सा दिुनया का सबसे लंबा संिवधान माना 
जाता ह?ै  

A) ᭠यूज़ीलᱹड का संिवधान  

B) भारतीय संिवधान  

C) अमेᳯरकᳱ संिवधान  

D) यूनाइटेड ᳴कंगडम का संिवधान  
 

 

 
 
113) Bangalore-based firm Halli Labs which focuses on 
Artificial Intelligence (AI) and Machine Learning (ML) was 
acquired by which of the following global organizations? 

A) Instagram  

B) Facebook  

C) Google  

D) Twitter  
 

 

 
 
113) बᱹगलोर ि᭭थत फमᭅ ह᭨ली लै᭣स, जो आ᳷टᭅᳰफिशयल इंटेिलजᱶस (AI) 
और मशीन लᳺनᲈग (ML) पर कᱶ ᳰᮤत करता ह,ै इसको िन᳜िलिखत ᳰकस 
वैि᳡क संगठन ने संᮧा᳙ ᳰकया था?  

A) इं᭭टाᮕाम  

B) फेसबुक  

C) गूगल  

D) ि᭗वटर  
 

 

 
 
114) Which chemical is used as a preservative in acidic 
foods such as pickles, carbonated drinks?  

A) Sodium benzoate  

B) Sodium nitrite  

C) Sodium propionate  

D) Sulfur dioxide  
 

 

 
 
114) अ᭥लीय खा᳒ पदाथᭅ जैसे ᳰक अचार, काबᲃनेटेड पेय मᱶ पᳯररᭃक 
के ᱨप मᱶ ᳰकस रसायिनक पदाथᭅ का उपयोग ᳰकया जाता ह?ै  

A) सोिडयम बᱶजोएट  

B) सोिडयम नाइᮝाइट  

C) सोिडयम ᮧोिपयोनेट  

D) स᭨फर डाइऑ᭍साइड  
 

 

 
 
115) Which among the following is the CORRECT option 
for the correct location of the Indo - Gangetic Plain?  

A) Deccan Plateau and the Narmada Range  

B) Himalayas and the Peninsular Plateau  

C) Narmada Range and the Peninsular Plateau  

D) Deccan Plateau and the Aravallis  
 

 

 
 
115) िन᳜िलिखत मᱶ से कौन िस᭠ध-ुगगंा के मैदान के सही ᭭ थान के िलए 
सही िवक᭨प ह?ै  

A) दᲥन पठार और नमᭅदा पवᭅत शृखंला  

B) िहमालय और ᮧाय᳇ीपीय पठार  

C) नमᭅदा पवᭅत शृंखला और ᮧाय᳇ीपीय पठार  

D) डᲥेन पठार और अरावली  
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116) Sher-i-Panjab', this title is associated with which 
Indian political leader?  

A) Babasaheb Bhimrao Ambedkar  

B) Dadabhai Naoroji  

C) Lala Lajpat Rai  

D) Gopal Krishna Gokhale  
 

 

116) शेर-आई-पंजाब ', यह शीषᭅक ᳰकस भारतीय राजनीितक नेता से 
जुड़ा ᱟआ ह?ै  

A) बाबासाहबे भीमराव अ᭥बेडकर  

B) दादाभाई नौरोजी  

C) लाला लाजपत राय  

D) गोपाल कृ᭬ण गोखल े 
 

 

 
 
117) The place where bankers meet and settle their 
mutual claims and accounts is known as  

A) Clearing house  

B) Treasury  

C) Dumping ground  

D) Collection and clearing centre  
 

 

 
 
117) वह जगह जहां बᱹकर िमलत ेह ᱹऔर उनके पार᭭पᳯरक दावᲂ और 
खातᲂ को ᳞वि᭭थत करत ेह,ᱹ इस जगह को ᭍या कहा जाता ह?ै  

A) ि᭍लयᳳरंग हाउस  

B) ᮝेज़री  

C) डᳲ᭥पंग ᮕाउंड  

D) कले᭍शन एंड ᭍लीयᳳरंग सᱶटर  
 

 

 
 
118) What is the fullform of ENSO related to weather 
phenomenon?  

A) East North South Oscillation  

B) Electric Navigational Southern Observatory  

C) Effect of Northern and Southern Oceanic currents  

D) El Nino Southern Oscillation  
 

 

 
 
118) मौसमी दिृ᭏वषय से संबंिधत ENSO का पूरा ᱨप ᭍या ह?ै  
 

A) ई᭭ट नाथᭅ साउथ ऑिसलशेन  

B) इलेि᭍ᮝक नेिवगशेनल साउथनᭅ ऑ᭣जवᱷटरी  

C) इफ़े᭍ट ऑफ़ नॉथᱷनᭅ एंड साउथनᭅ ओशिनक करंट  

D) एल नीनो साउथनᭅ ऑिसलेशन  
 

 

 
 
119) Who of the following claims to be the creator of 
Bitcoin, initially identified under pseudonym Satoshi 
Nakamato?  

A) Tikashi Masuka  

B) Cheng Lee  

C) John Wilbur  

D) Craig Wright  
 

 

 
 
119) िन᳜िलिखत मᱶ से कौन Bitcoin के िनमाᭅता होन ेका दावा करता 
ह ैजो आर᭥भ मᱶ सातोशी नाकामातो के उपनाम से जाना जाता था?  
 

A) ᳯटकाशी मासुका  

B) चᱶग ली  

C) जॉन िवलबर  

D) ᮓेग राइट  
 

 

 

 

 
 

 

 

 
 



Set ID: 46318_19 6-July-2018_Batch1_Group-III 

Page33of42  

120) Which of the following is INCORRECT with respect 
to the characterstics of sound waves?  

A) The pitch, loudness and tone are the basic properties 
of sound waves  

B) They are mechanical waves  

C) They always propagate as longitudinal waves 
through a solid medium  

D) They consist of areas of high and low pressure called 
compressions and rarefactions  

 

 

120) िन᳜ मᱶ से कौन सा ᭟विन तरंगᲂ कᳱ िवशषेताᲐ के संबंध मᱶ अस᭜य 
ह?ै  

A) िपच, लाउडनसे और टोन ᭟विन तरंगᲂ के मूल गुण ह ᱹ 

B) वे यांिᮢक तरंग ह ᱹ 

C) वे हमेशा एक ठोस मा᭟यम के जᳯरये अनुद᭟ैयᭅ तरंगᲂ के ᱨप मᱶ ᮧचार 
होते ह ᱹ 

D) वे उᲬ और िन᳜ दबाव वाले ᭃेᮢ  से बने ᱟए होते ह ᱹिज᭠हᱶ क᭥ᮧशे᭠स 
और दलुᭅभ ᮧितᳰᮓया (रेयरᮨै᭍शंस) कहा जाता  ह।ै  

 

 

 

 



Set ID: 46318_19 6-July-2018_Batch1_Group-III 

Page34of42  

Section 3 - Part C-English Language  
 

121) Choose the option that best completes the 
sentence :  
The professor has been given a year's ________ 
and will resume teaching from June 2018. 

A) sabbatical  

B) time off  

C) recess  

D) employment  
 

 

 
 
122) Fill in the blanks with the correct option:  
Shakespeare was born __________ the 23rd 
_______ April. 

A) on, of  

B) of, on  

C) of, in  

D) on, at  
 

 

 
 
123) Fill in the blanks with the correct option:  
Heart surgery _______ tremendous skill and 
concentration. 

A) were exacting  

B) have exacted  

C) exacts  

D) exact  
 

 

 
124) Fill in the blanks with the correct option:  
My mother __________ me of negligence unless I 
phone her every day. 

A) accusing  

B) accuse  

C) accuses  

D) was accused  
 

 

125) Fill in the blanks with the correct option:  
Comets _______ at regular intervals. 

A) appearing  

B) appears  

C) appear  

D) is appearing  
 

 

 
 
126) Identify the synonym of the italicised word:  
They were asked to rewrite the chronology of 
events occurred in America in the 19th century. 

A) Catastrophe  

B) Completion  

C) Drubbing  

D) Time sequence  
 

 

 
 
127) Fill in the blanks with the correct option:  
Have _________ shifted from Jaipur to Delhi? 

A) Them  

B) Who  

C) They  

D) Their  
 

 

 

128) Identify the meaning of the underlined 
Idiom/Phrase:  
There are no cut and dried rules to improve the 
sales of the company. 

A) redundant  

B) ready-made  

C) motivational  

D) obsolete  
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129) Fill in the blanks with the correct option:  
I cannot ________ you tomorrow. I _________ 
cricket. 

A) meet, will play  

B) meeting, am playing  

C) meet, am playing  

D) met, will play  
 

 

 
 
130) Fill in the blanks with the correct option:  
____________ Himalayas are __________ highest 
mountains. 

A) The, the  

B) The, No Article  

C) An, the  

D) No Article, the  
 

 

 
 
131) Choose the correct spelling from the four 
options:  

A) deiquiri  

B) daiquieri  

C) daequiri  

D) daiquiri  
 

 

 

132) Fill in the blanks with the correct option:  
________ have endangered your life, forgive me. 

A) I  

B) She  

C) He  

D) Me  
 

 

 

 

 
 

133) Fill in the blanks with the correct option:  
I __________ not to repeat the mistake again. 

A) promised  

B) am promising  

C) have promised  

D) promise  
 

 

 
 
134) Identify the error in the following sentence. The 
error, if any, will be in one part of the sentence, the 
number of that part is your answer. If there is no 
error, mark your answer as D: 
(A) He made / (B) his points by/ (C) admirable 
clarity./ (D) No error  

A) C  

B) D  

C) A  

D) B  
 

 

 
 
135) Identify the Simple sentence.  

A) The bee turns nectar into honey.  

B) They'd eaten nearly everything before we had 
arrived.  

C) Juliana had a lovely nature so everyone liked 
her.  

D) She tries to be neat, but her husband is a slob. 
 

 

 

136) Fill in the blanks with the correct option:  
People first flew in _________ balloon in 1783. 

A) No Article  

B) a  

C) the  

D) an  
 

 

 
 



Set ID: 46318_19 6-July-2018_Batch1_Group-III 

Page36of42  

137) Identify the synonym of the italicised word:  
United States of America emerged as a super 
power in the world after 1945. 

A) Dissipated  

B) Came forth  

C) Captured  

D) Continued  
 

 

 
 
138) Choose the correct spelling from the four 
options:  

A) parallel  

B) paralell  

C) parallell  

D) paralel  
 

 

 
 
139) Identify the synonym of the italicised word:  
A.R. Rahman is labelled as exemplary in Indian 
music. 

A) Puzzling  

B) Excellent  

C) Simple  

D) Blundering  
 

 

 
140) Identify the synonym of the italicised word:  
The lack of Calcium gives rise to severe pain in 
human bones and causes Beriberi. 

A) Dearth  

B) Presence  

C) Moderate  

D) Excess  
 

 

 

 

 
 

141) Identify the correct statement: 
(A) Most of the crowd were rooting out for the home 
team. 
(B) Good manners were rooted out in him like a 
second nature. 
(C) We were rooted out to the spot by surprise. 
(D) I've rooted out an old pair of shoes that might fit 
you.  

A) A  

B) C  

C) D  

D) B  
 

 

 
 
142) Identify the Complex sentence.  

A) Holders of shares in the company receive 
various benefits.  

B) He made a mistake, but I don't hold it against 
him.  

C) She sounded a bit hoarse.  

D) The villagers were very hospitable to anyone 
who passed through.  

 

 

 
143) Identify the correct statement: 
(A) We put your mistakes down to nervousness. 
(B) He was put down as a chronic complainer. 
(C) I don't think I managed to put down myself 
across very well in my interview. 
(D) I’ve put a deposit down on a new car.  

A) B  

B) C  

C) A  

D) D  
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144) Identify the Complex sentence.  

A) If you feed your dog on cakes and biscuits, he 
will become fat.  

B) We moved house last January.  

C) He had always felt himself to be inferior to his 
brothers.  

D) The nationalists believe fervently in 
Independence for their country.  

 

 

 
 
145) Choose the antonym of the underlined word.  
Sky is the limit. 

A) Firmament  

B) Earth  

C) Heaven  

D) Azure  
 

 

 
 
146) Identify the synonym of the italicised word:  
The foreigner felt abashed because she knew that 
she had been wrong in her dealing with a seller. 
A) Vibrant  

B) Untidy  

C) Ashamed  

D) Cleared  
 

 

 
 
147) Fill in the blanks with the correct option:  
_______construction will be finished in _______ next 
few months. 
A) An, the  

B) An, a  

C) The, the  

D) No Article, an  
 

 

 

 

148) Choose the antonym of the underlined word.  
The structure of the newly bought art piece is 
fragile. 
A) Brittle  

B) Feeble  

C) Weak  

D) Strong  
 

 

 
 
149) Choose the antonym of the underlined word.  
After the terror attack, citizens were warned to be 
vigilant all the time. 
A) Cautious  

B) Acute  

C) Ignorant  

D) Circumspect  
 

 
 

150) Fill in the blanks with the correct option:  
______ annual arts festival is _____monument to her 
vision and hard work. 
A) A, an  

B) An, No Article  

C) The, a  

D) No Article, an  
 

 

 
 
151) Fill in the blanks with the correct option:  
________ team created ripples in entrepreneurship 
and won ________ first prize in the category. 
A) My, its  

B) Her, there  

C) Her, his  

D) Its, my  
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152) Identify the synonym of the italicised word:  
Many nations currently ceased the export of 
genuine artifacts. 
A) Outdated  

B) Old  

C) Real  

D) Costly  
 

 

 
 
153) Fill in the blanks with the correct option:  
He _____ a tune as he dried the dishes. 
A) humming  

B) was humming  

C) hum  

D) hums  
 

 

154) Fill in the blanks with the correct option:  
She ______________staying in Singapore since 
2016. 
A) is been  

B) has been  

C) have been  

D) had been  
 

 

 
 
155) Fill in the blanks with the correct option:  
___________ name is Dr. John and I work in an 
institution. 
A) Their  

B) My  

C) I  

D) Him  
 

 

 

 

 
 

156) Identify the meaning of the underlined 
Idiom/Phrase:  
If you had half an eye you would have detected her 
handwriting in the account book. 
A) been observant  

B) been indiscreet  

C) been blindfolded  

D) been accountable  
 

 

 
 
157) Choose the correct spelling from the four 
options:  

A) handkerchief  

B) handerchief  

C) hankerchief  

D) handkarchief  
 

 

 

158) Choose the antonym of the underlined word.  
If you want to speak impeccable English, it is 
suggested you study subject-verb agreement. 
A) Ornate  

B) Flawed  

C) Alluring  

D) Perfect  
 

 

 
 
159) Choose the antonym of the underlined word.  
My friend's newly built home is palatial. 
A) Grand  

B) Cramped  

C) Elegant  

D) Stately  
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160) Fill in the blanks with the correct option:  
She does __________ lot of work for charity. 
A) an  

B) No Article  

C) the  

D) a  
 

 

 
 
161) Identify the Complex sentence.  

A) The tunnel was dug with the aid of heavy 
machinery.  

B) This chapter is very difficult to understand.  

C) The company publishes a monthly report of its 
activities.  

D) The coach, who is very strict, issued an order 
that all team members must attend early 
morning practice.  

 

 

 

162) Fill in the blanks with the correct option:  
Many parents ________ to bring their children up on 
a low income. 
A) has struggled  

B) struggle  

C) struggles  

D) is struggling  
 

 

 
 
163) Fill in the blanks with the correct option:  
Everything in this store is ___________ sale. 
A) at  

B) on  

C) in  

D) of  
 

 

 

 

164) Fill in the blanks with the correct option:  
His friends _____________ the party before he 
entered the room. 
A) plan  

B) have planned  

C) had planned  

D) planned  
 

 

 
 
165) Choose the antonym of the underlined word.  
The caretaker used to sleep in the garret. 
A) Attic  

B) Turret  

C) Loft  

D) Basement  
 

 

 
166) Fill in the blanks with the correct option:  
He is a new student ____________ Brazil. 
A) to  

B) from  

C) of  

D) for  
 

 

 
 
167) Fill in the blanks with the correct option:  
Many people regard him ______ their hero. 
A) as  

B) for  

C) at  

D) to  
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168) Fill in the blanks with the correct option:  
Mary said that she was very pleased ____________ 
my work. 
A) of  

B) on  

C) at  

D) with  
 

 

 
 
169) Fill in the blanks with the correct option:  
I noticed that some students had __________ close 
after the exhibition. 
A) come  

B) came  

C) coming  

D) comes  
 

 

 
 

170) Choose the option that best completes the 
sentence:  
The revolt of the tribal chief was__________ before 
it could spread to other places. 
A) suppressed  

B) fuelled  

C) roused  

D) encouraged  
 

 

 
 
171) Fill in the blanks with the correct option:  
These flowers generally grow on sloping_______ 
river banks and near streams. 
A) an  

B) the  

C) a  

D) No Article  
 

 

 
 

172) Fill in the blanks with the correct option:  
The Olympic Games ________ tomorrow. 
A) opens  

B) will be opening  

C) opening  

D) is opening  
 

 

 
 
173) Identify the meaning of the underlined 
Idiom/Phrase:  
The rebels surrendered at discretion. 
A) secretly  

B) reluctantly  

C) unconditionally  

D) wisely  
 

 

 

174) Fill in the blanks with the correct option:  
He forgot my birthday ________ purpose. 
A) for  

B) with  

C) of  

D) on  
 

 

 
 
175) Identify the correct statement: 
(A) Sushma has been plugging away at her 
homework for hours. 
(B) That interview was just a way for him to plug 
away his new book. 
(C) I want to plug away the kettle into the right-hand 
socket 
(D) You may plug away the keyboard at the back of 
the computer.  

A) B  

B) A  

C) C  

D) D  
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176) Choose the correct spelling from the four 
options:  

A) threshould  

B) thrashold  

C) thrreshold  

D) threshold  
 

 

 
 
177) Identify the meaning of the underlined 
Idiom/Phrase:  
I was determined to speak out. 
A) to speak incoherently  

B) to speak freely  

C) to speak quietly  

D) to speak myself  
 

 

 
 
178) Choose the option that best completes the 
sentence:  
The policeman's family was filled with ________ 
when their son was killed. 
A) consternation  

B) veneration  

C) despondency  

D) awe  
 

 

 
 
179) Choose the option that best completes the 
sentence:  
The Brooklyn Bridge's ___________ took 14 years, 
involved 600 workers and cost $15 million. 
A) construction  

B) demolition  

C) buttress  

D) extermination  
 

 

 
 

180) Fill in the blanks with the correct option:  
I ___________ cut my hair. 
A) having  

B) have  

C) has  

D) am  
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Answer Keys 
1 C 46 A 91 A 136 B 
2 C 47 D 92 D 137 B 
3 C 48 D 93 C 138 A 
4 B 49 B 94 B 139 B 
5 C 50 C 95 B 140 A 
6 A 51 A 96 C 141 C 
7 A 52 C 97 D 142 D 
8 D 53 C 98 B 143 D 
9 B 54 D 99 A 144 A 
10 B 55 C 100 D 145 B 
11 B 56 C 101 D 146 C 
12 A 57 B 102 A 147 C 
13 A 58 C 103 B 148 D 
14 C 59 B 104 C 149 C 
15 B 60 D 105 D 150 C 
16 B 61 D 106 C 151 A 
17 A 62 C 107 D 152 C 
18 A 63 D 108 A 153 B 
19 C 64 A 109 D 154 B 
20 C 65 A 110 A 155 B 
21 C 66 D 111 B 156 A 
22 B 67 C 112 B 157 A 
23 B 68 B 113 C 158 B 
24 C 69 D 114 A 159 B 
25 D 70 B 115 B 160 D 
26 A 71 A 116 C 161 D 
27 D 72 C 117 A 162 B 
28 B 73 B 118 D 163 B 
29 D 74 D 119 D 164 C 
30 C 75 A 120 C 165 D 
31 C 76 B 121 A 166 B 
32 A 77 B 122 A 167 A 
33 D 78 D 123 C 168 D 
34 B 79 B 124 C 169 A 
35 B 80 C 125 C 170 A 
36 A 81 C 126 D 171 D 
37 C 82 B 127 C 172 A 
38 A 83 B 128 B 173 C 
39 C 84 C 129 C 174 D 
40 D 85 C 130 D 175 B 
41 D 86 C 131 D 176 D 
42 D 87 A 132 A 177 B 
43 D 88 D 133 D 178 C 
44 C 89 D 134 D 179 A 
45 D 90 D 135 A 180 B 

 


